AH-III/Pol. Sc./CC-5/18
B.A. 3rd Semester (Honours) Examination, 2018 (CBCS)

Subject : Political Science

Paper : CC-5
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions from following questions: 2x10=20
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(a) ‘... comparative politics is concerned with significant regularities, similarities and difference
in the working of political institutions and in political behaviour.”” — Who made this
observation and in which book?
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(b) Which one of the two Houses of the legislatures in (a) the USA and (b) the UK does enjoy
more power in passing money bills?
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(c) Explain, in brief, what is the meaning of the term ‘due process of law’ in the American
Constitution.

SRR AR SlERs SR IR Awfs’ I00 F QR O FLCHC P S |
(d) Strike out the wrong ones: % x4=2
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(i) The British Constitution is federal/ unitary/ mixture on both federal and unitary system.
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(ii) The Constitution of the USA is unitary/ federal/ mixture of both federal and unitary
system.
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(iii) The French Constitution is unitary/ federal/ mixture of both unitary and federal system.
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(iv) The House of Lords is presided over by the Queen/ Speaker/ Lord Chancellor/ Prime
Minister.
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(e) Which one of the following statements is correct?
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(1) In Britain the Queen rules.
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(ii) In Britain the Queen reigns but does not rule.
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(f) Tick (v) correct answer:
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(i) Like the members of the British Cabinet the members of the American Cabinet are
responsible to the legislature.
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(i)) Unlike the members of the British Cabinet the members of the American Cabinet are
responsible to the President.
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(g) How is the Constitutional Council in France formed?
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(h) Choose the correct statement/ statements from the following statements:
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(1) The British Parliament is composed of the House of Commons and the House of Lords.
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(i) The British Parliament is composed of the Queen, the House of Commons and the
House of Lords.
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(iii) The American congress is composed of the Senate and the House of Representatives.
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(iv) The American congress is composed of the President, the Senate and the House of
Representatives.
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(1) Who is regarded as the ‘father of comparative politics?
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(j) Fill in the blanks:
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(i) The duration of the National People’s Congress of China in - years.
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(ii) The USA is headed by :
N JEMEH N = ==




{3) AH-III/Pol. Sc./CC-5/18

(k) Mention any two characteristics of the Nigerian party system.
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(1) What do you mean by ‘The American Bill of Rights’?
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(m) Explain briefly the meaning of Parliamentary Democracy.

(n)

(0)
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Briefly state two arguments against the House of Lords.
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Mention two functions of the US Senate.
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2. Answer any four of the following questions: 5x4=20
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(a)

(b)

(©)

(d

©)

Discuss the objectives of Comparative Government and Politics. Who is the author of the
book ‘‘Comparative Politics Today: A world view’’?
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What is meant by Conventions of the Constitution in Great Britain? Which one of the
following explains as to why conventions in Britain are obeyed: 2+3=5
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(i) Conventions are enforced, directly or indirectly, by the courts.
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(ii) Conventions are enforced by the weight of the public opinion.
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What do you mean by Presidential form of Government? Point out three main features of the
British Parliamentary form of Government. 3+2=5
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Critically examine Dicey’s theory of the Rule of Law. Who is the author of the book ‘Some
Problems of the Constitution’? 4+1=5
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“‘Almost from the beginning to end, the Constitution reflects the profound influence of the
twin theories of separation of powers and Checks and Balances.”” — Elucidate the statement
in the light of the Constitution of the United States of America.
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(f) Write a short note on the features of the French judicial system. Who is the author of the book
‘The Fifth French Republic’?
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3. Answer any two of the following questions: 10x2=20
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(a) What is meant by the ‘‘decline of parliamentary sovereignty’’? Explain the relation between
the British cabinet and the House of Commons. 2+8=10
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(b) Discuss the striking features of the French Party System. ‘‘The multiparty system in France
was due to political immaturity of the French people.”” — Who said this and why?  8+2=10
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(c) Make a comparative study of the powers and functions between the British Prime Minister

and the President of USA. 10
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(d) Briefly point out the salient characteristics of the Unitary Political System. ¢ ..... the question

may properly be raised as to whether the United States in any longer properly classified as a
Federation’’ (E.S.Griffith) — Elucidate the observation in the light of the Centralization of
Power in the USA. 2+8=10
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